



$$\cos\left(\frac{2\eta}{3}\right) = -\frac{1}{2}, \quad \sin\left(\frac{2\eta}{3}\right) = \frac{\sqrt{3}}{2}$$

$$\sin(a+b) = \sin(a)\cos(b) + \cos(a)\sin(b).$$
2. Find FCS.

Q. From last time:
$$e^{-as}F(s)$$

$$f(t) = \left(u(t-\frac{\eta}{3}) - u(t-2\eta)\sin(2t)\right)$$

$$= u(t-\frac{\eta}{3})\sin(2t) - u(t-2\eta)\sin(2t)$$

$$= u(t-\frac{\eta}{3})\sin(2(t-\frac{\eta}{3}) + \frac{2\eta}{3}) - u(t-2\eta)\sin(2(t-2\eta) + 4\eta)$$

$$= \lambda\left\{f^{\frac{\eta}{3}} = e^{-\frac{\eta}{3}s}\lambda\left\{\sin\left(2t + \frac{2\eta}{3}\right)\right\}\right\}$$

$$= e^{-\frac{\eta}{3}s}\lambda\left\{\cos\left(\frac{2\eta}{3}\right)\sin\left(2t\right) + \sin\left(\frac{2\eta}{3}\right)\cos\left(2t\right)\right\}$$

$$= e^{-\frac{\eta}{3}s}\left\{\cos\left(\frac{2\eta}{3}\right)\sin\left(2t\right) + \sin\left(\frac{2\eta}{3}\right)\cos\left(2t\right)\right\}$$

$$= e^{-\frac{\eta}{3}s}\left\{\cos\left(\frac{2\eta}{3}\right)\sin\left(2t\right) + \sin\left(\frac{2\eta}{3}\right)\cos\left(2t\right)\right\}$$

$$= e^{-\frac{\eta}{3}s}\left\{-\frac{1}{2}\right\}\frac{2}{s^{2}t^{2}} + e^{-\frac{\eta}{3}s}\frac{\pi}{2}\frac{s}{s^{2}t^{2}} - e^{-2\pi s}\frac{2}{s^{2}t^{2}}$$
2. 
$$x'' + 9x = \frac{1}{3}, x(s) = x'(s) = 0$$

$$|A| = |A| + |A|$$